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1 2 149.9 10 100.0 10 - - 14.29 2.7
2 3 149.9 1.0 100.0 1.0 - - 14.29 2.7
3 4 150.1 10 100.0 10 - - 13.71 2.6
4 5 150.1 1.0 100.0 1.0 - - 1371 2.6
5 6 149.4 10 100.0 10 - - 1351 2.5
6 7 125.1 1.0 100.0 1.0 - - 10.89 2.0
7 8 121.3 10 100.0 10 - - 10.70 2.0
8 9 123.7 1.0 100.0 1.0 - - 10.77 2.0
9 10 125.2 10 100.0 10 - - 10.77 2.0
10 11 128.5 1.0 100.0 1.0 - - 11.77 2.2
11 12 154.8 10 100.0 10 - - 11.96 2.2
12 13 168.1 1.0 100.0 1.0 - - 16.05 3.0
13 14 168.1 10 100.0 10 - - 16.05 3.0
14 15 1713 1.0 100.0 1.0 - - 16.05 3.0
15 16 171.7 10 100.0 10 17.07 3.2 16.05 3.0
16 17 172.6 1.0 100.0 1.0 17.07 3.2 16.05 3.0
17 18 172.6 10 100.0 10 16.99 3.2 16.05 3.0
18 19 169.3 1.0 100.0 1.0 - - 16.05 3.0
19 20 146.1 10 100.0 10 - - 13.50 2.5
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